Numerical fallback

The Legendre relation is a relation among the elliptic integrals of the first (K)
and second (F) kinds, given by

E()K(1-k)+ E(1 - kK)K(k*) — K(K*)K(1 - k?) = g (1)
Unfortunately, sympy doesn’t know how to automatically simplify it, so qed
cannot analytically determine its validity. Nevertheless, when we typeset it, we
still got a passing badge. That’s because ged falls back to numerical evaluation
automatically.


https://luger.dev/qed?eqn=0&inp=%5Cellipe%28k%5E2%29+%5Cellipk%281-k%5E2%29+%2B+%5Cellipe%281+-+k%5E2%29+%5Cellipk%28k%5E2%29%0A++++-+%5Cellipk%28k%5E2%29+%5Cellipk%281+-+k%5E2%29+%253D+%5Cfrac%7B%5Cpi%7D%7B2%7D%0A&lat=E%28k%5E2%29+K%281-k%5E2%29+%2B+E%281+-+k%5E2%29+K%28k%5E2%29%0A++++-+K%28k%5E2%29+K%281+-+k%5E2%29+%253D+%5Cfrac%7B%5Cpi%7D%7B2%7D%0A&sym=Eq%28elliptic_e%28k%2A%2A2%29%2Aelliptic_k%281+-+k%2A%2A2%29+%2B+elliptic_e%281+-+k%2A%2A2%29%2Aelliptic_k%28k%2A%2A2%29+-+elliptic_k%28k%2A%2A2%29%2Aelliptic_k%281+-+k%2A%2A2%29%2C+pi%2F2%29&ana=3&ams=2&num=0&nms=4&n00=1%2C0.000e%2B00%2C4.441e-16%2C2.571e-12%2C1.000e-12&v0000=k%2C-3.077e%2B00&n01=1%2C2.220e-16%2C2.151e-16%2C2.571e-12%2C1.000e-12&v0100=k%2C-1.419e%2B02&n02=1%2C0.000e%2B00%2C3.608e-16%2C2.571e-12%2C1.000e-12&v0200=k%2C1.066e%2B01&n03=1%2C2.220e-16%2C0.000e%2B00%2C2.571e-12%2C1.000e-12&v0300=k%2C2.811e%2B00&n04=1%2C8.882e-16%2C0.000e%2B00%2C2.571e-12%2C1.000e-12&v0400=k%2C1.724e-01&n05=1%2C0.000e%2B00%2C4.476e-16%2C2.571e-12%2C1.000e-12&v0500=k%2C2.877e%2B01&n06=1%2C0.000e%2B00%2C0.000e%2B00%2C2.571e-12%2C1.000e-12&v0600=k%2C2.376e-01&n07=1%2C2.220e-16%2C7.756e-16%2C2.571e-12%2C1.000e-12&v0700=k%2C-8.274e%2B03&n08=1%2C2.220e-16%2C5.516e-16%2C2.571e-12%2C1.000e-12&v0800=k%2C-4.331e%2B04&n09=1%2C0.000e%2B00%2C0.000e%2B00%2C2.571e-12%2C1.000e-12&v0900=k%2C6.830e-02

